+ 2
m \f\é (9] L E
\ ks B+
N 986 | ~d 3
A\ X% A L8885 &
928 fb‘_?ﬂ 75 ‘,‘"\A 95_;3579 1‘5 B4 T % E —
O\ 2% A 62 2 2 SO o wn
792 S N o IS =ciRe)
\ W 2 NR\AS ?‘(\'lﬁ / S g & = 3
9/ N - o) = D
\ o ., A ) D o
) = M ., 2] ] <]
oh X 2= \\ % ;V‘/ ggi E E S i% _;%
y \kﬁs""km = seE sl [ AHSlesias
h2 \& pﬁ/y 586, = O = | a ] @
£ 317 -~ 25 o 2 o
7] b\ \ 3 To X= 1,83\Y < 7537954‘59 Sx g a- g (>5 © a
tel\ s ﬂg”’%%\ ES=k =) 5 = g 3
b & Wi A’VJ o 'L?”m Z %%g Hls|E 5v§g%
b ooy SR z 3=38|% (= 5 €2 R 8
! ’QS'M*”’ = \/\ E"N_€Z°‘3§-§WN
\ W= 75 = =7 GN)§~° L[ < § S & 2_;%
w2 AT - s§3 |5 3|8 PERR
< =2 N 5 (a1 &S T'E e = = =
» ";n\ ~ 2 2 i“‘:’g P © S 22 g
) :}ﬂu X= 5863, = 7537969,9 E\&‘\) 9 g 8 < »leg L2
oF % 21 58 ?\b\\ o-
o %57 bet “\a \\{b (2N \EG? =
4 § \ 1 025 &
5 =~ ; &
9 5\ \ - < = N
%,/ R e ‘ o g 2003 s |2 |= £ | £
72 B 4 % Aoy s |55 % s |8
é “ X" | awag 52 E|=|& =
3, g =\s —
ot
P “926 2z ~ ¢ 2 - 1m 4 N\ 927
// 1 & ﬁ T | \
21 102 - % A Tlg
ay g L3 3 \éx( feze
My i i‘ \ 5 I| . g . =z
\ \ .. - l € s
/ T \ W ST % \ / %% s
A< 9644 [, \‘/\\ \;% U g 7805198 | Ei3ssfis B
L= 30,09 ZIE . ERREEEs
g al A\ N 16 =
;[rd];—szg 0185 a5 /\\\ X \\/\ | SUL"XP:nEtawsf;ZBS'Q Y\s 753799 29 “
=15, v \ gy 94,1 Wsp, x/'2 |
Yo 310'12 \ \ k h Sp. X 5863; WINB Y = 75\38\000’,53 H I i
H= 012 —L s & X
To= 86'69 9, 3 i-.\ }' \ \k/ ~
a6 3 H \ ! Psy
tuk wig E‘\\ \ ! |
R= 310,00 == &
9rad]= g, \l_—j( 6,60 I e
99l 28,9771 RAI=h 1=
110.86 Psy \—j \
407 L] =
i | Ll \/\
935 |_
A= 96,44 "_13 ‘ | Py \/\
L= 30,00 | B H k4 }
t{rdk 30,016 — !
Xs= 15,00 '»j | L FR £ 31000 1 = 2798163
Ys= 310,10 }—j L 1 A F 96,44 KKI = 27581,
H= 0,12 IE;I K - TX= 5863231,61 Y= 753 5,27
To= 86,69 i I '
4 - A . =i "
i}
933
il =l 2
"/7" —l | ,,“‘ 4
L Al= 96,40 Wi
Py | ’ ]
Bl E T
x B , 1 K1 X = 5863201;‘8.7,‘6 538008, 7
_—Jj | Z2 é‘ﬁ‘% -
9%, ] H “ = Il
23 //,—' ! 5 /}9‘4.&,/” \/\
- . v
= » , Higy
km 274 ’\ A < 2792556
2 ¢ % ,' r
| -2 2, 3175’
” . L LW € T 86 y 53801 A= 1,85
\ 7 ’
- oy ]: 9%, ) Y @;’4/7 tll-=d]2=5'25
' udo , 7N y r ,1847
OMIEY pr i&rzch < N> {2 2790056 Xs= 1248
\/\ Oczatek G000 AR LA ) e ® Ys= 70,37
me \\ R =z BV Hs%7
Punktis 27 ; |\ \ &% = ol tuk\ w5
WD X < se31454 , G5 W\ B\ A 8631121 v 80152, R= 00
ASNY < 310 27\ S 1 A R \B63146,3 v - 7538016, 850= 30,56 ) s |
9400 it
£ Y 2 1 e 99k 3013 7L
\ ,64 75. t=7
& \ 9 5 = 102 A= ¢4
\( 263 3 5 ol = % ,83
2 Z 3 S 105 1S L=
L £ \ . = s P= 20,60 25,00
= 1% RS T Q‘(\\ ¢ ’ t[ d
2\ 8 Ly rdl= 25,184,
e o s " Yo= 12.48
v % z \Vs= 70,37
/ '\ m “ s N = 037
: .\ 3 Ta=
5 55\3 .2 ?\m 108 "B éZlP | 3 Jo'slgw
N - AN ey s ¥ 06 ¥ < Xs3p031%
PEE 3 % d 63 r@ 5
Q) \ \ 7
\/\ i 3@4} £ " ~
7L ' mi S\
a5 oL 1 o0 (0}, 4% !
Sy L A\ . s l
| By, el
4 /, \J : N ’:‘]’;2 . Qgt%ﬁl \/\
QQF’" ; /.//, ; ) \\ %?;unk . m ’],\'i(\*\x
7/, =
% 7% \\ 7\ 58630 07 Y 75380575
p 7, W0
© mz 7 2\ A
\ ) ’LG(’3 %‘3\ /// e \,‘ \\ rL‘\ ,@ !
3 0> o L\ Q® \ x> L
rﬂ* 7 \‘\‘Q(ﬂ\ t\\ O3 5> i R 7
A\ 7S ) 2 £ «
94 ol AN & QQ
S 2 N\ N
1L Q:\;b AN y S5
W N Ao 125 &
- \ \ =
\ D
! m 922 9: éﬁf
”«:‘ R 2 L
- 2 %44 *
~ ~ \ m
20 "
: 9218 ” \’ ) H \/\
B/ ‘\ »
\ FA L 7
G- A\
7N Q - k I 2
%g’LQ‘\l‘b\Q/,” a0 \ / \\ \., ﬂoﬂsaf
\)&f‘ B N\ D —
< 'L%’Lé’k ;\6 V WX 2% _ 905\ fasf
wr - \
oy 967 / \ Pk \
£ 7 Ay
: v ) = X
— NN\ <
—_— 508 \ ;! 3 Q{/@ ’ 3’33
\/_ 3 § \ = §
e;%’lg‘" \}\ \ 2 oy
18 ,\;\%‘%« WA e |l
% \/\ \ =
NN 77 o %4 N Shes el
S 218
65 N é’_ \o,,l[- L “/\
Gy | NN g T
2B AN == - —
gl = 75381348
W B ; \eyins LTy —"
“ T /13 -
p - 915 N \
’LQ%‘L Q jfj;f D) 223 X 254 09
QAN S N, = 2. . "\'\';.w
- < - \ ~ 9:5”7%
= = e : W i A
______ 1 —;fﬁ;r 7% % - NG o)
: ; P A 737,
A= 33,90 " B\ N g e, i
L= 22,08 ¥ ) BTN
7!‘ {rd) 23,2675 “ /
Xo= 11,470 s | 2
7L7s= 50,44 =l K| [10% P
H= 0,44 5 i ’ %75
tik iz | To= 26,09 4 | L
R= 50,09 N I % I \ ~~
gl[md]= 05647 ’f: 2-23:9980 | ‘.‘_ e l; Ep 1 = 27642,63
99~ 359118 S i X~ sommas y .
£ ];235' tlrd} 23,7574 2 A P
i= 2,0% Xs="11,47 g Lo =
p= 2,80 Vo= 50,44 Ziaz &
H= 0,44 y L Zjazdszer. 5,
To= 26,09 or 5 § s e
%2 g /
. m / b
4 e Wi
\/\ - | =
-~ W L i
& g o i
L_{s50 1.
) m i
Zjazd pzgr ,Oy > e hzyz
Kin 2748 | I E Zi
9486 i
§>~ I |
|2 —
m ‘?; i \
7
214! | 6,00
T | :
k3 —”é II Zﬂw T_
@ = ]
o Zjazd szer. 5,04
a | 27+535
7
\ e\;, 74
3
! 50m i
\/\ ! }:/./
“T?//”:nktmw
| Mo x = 2799,775 v - 7538178,17
' /m
Pay g
5 -
s
N f ~
\ &
\ 7
TL I \ 4,15, | 6100 -~—+
7LV\E 25 M\ g #\
/ xg
B4 Paly
/ 4 E %7
52 e §
// s | F T - przystanek autobusa
s 120 ) —
g ¢ Ig I
7L L+ = e
\/\ | = =t = 5
Py q E 7L
! 152, jzd siger. 50 m
e S N 9
L — —w H K2
- | LN
g 4 Il
M‘\.j b & 28
AN : Al
\> \Przystanek adtObUSOWV T L
2l il R I
%50 i H i
\/\ g IR |
I~ T I i
//95" 68 £ \. | /
e 1002, i : f kyﬂ 27+344 \/\
o 4 I 7
L 1y f ik flos g
g . ARIR N [ s
m gy a Y, o _—
i il »
2 A \_ Sy S /azdszer.4,0m F
2 P =5 —<Zjaz === 1y
~ e s 8 Y —— k27327
) WIS Sacrmmn— ¥ s
| vl;unktan
P XS 58626194077 7
7 Bl5e07,919
2; o0 - 1y
Tl SN
Ve
Ve
e -10s
! T 4
Rive - 1012
sloo 15,75 » -
Torg 4
dl \
\
| \\
. 4
%"1 E : \\
AN
N
AN
N
~ s _
\/\ A% .
{\ I ) E LI R= ';‘;;‘0 PK2 = 2720365
(4 = s =
\/\ (=) |A ;;;;;; ,,,‘;?};1;5;8;@2,59ﬂ6,@15 7538225,97
|
|
| |
169 : -1otg - 1018
|
| .. ] A = 86,60 = 17
i T1n7sli ko ’75312257?32,04 @ =T 4488 Y < 753823004
ifi Who = 586246%9,(’:}(%7) 7536230,4
= 20 P~X=5862469729Y~7
S—— - KKt = 27163,17 < ’ = 7538231454
\/\ [ “_526;60 kK1 x 5862464,43 Y= 7 230,82
l R N - 1022
\/\ B 2
2
I !
1022 — \/\
~ /IW/G
I —
I 4 —
= 86,60 PK1 x = 586245444 Y
4 Y = 7
g ! Rj"ﬁg&’ PK7=27133,17 <1029 538231'24
.#z;' h up
1 / /I
- I | .
// I /' i ZaZdSZ 50m
\/\ —® Lo km 22577
+ | s df
-+ J R
f -+
o -
I
i
:/ I "l m277 ] B
i
13
F
\3 H I
9 ¢ I
]
030 :/ III / 4
',/ /I ez o
{ I -
\/\ / i //,//
\/\ i M — Zjazd szer 50m
/: / km27+59§2
Il
B [ A ;
= / i i
T /]
—_ ? '.
<1037 9 .
twa ’ 1040
I e g 38230,58
I I
: {)
+ 2|
I
[ 7 —+
I
f Zjégd 570, 50m
1042 H Il k £6 98
/ II 19186+ 8
é 1044
e ! /'I T wm T T
F g -——
il
= Iy
—— i
ZjaédSZSﬂOm — / ,’I
7L ki 267955 ; -
\/\ ~ > | I
+ I TE |
<1047 11 | " \/\
I, / I . e 1049
I i Zjazg.szer 50m
II g 1 km26+938
/ i 1 »
0, 6,00/
i
|l
@ i
! ] 37
1050 / I
i
I \/\ %/ L
Fl +
/ -+
.73 / /
[ ]
169 i
1
: . Jazd szer o7
e Pik=26875,
R Vyg | fnktho /578
. ! ¥op. X = 5862176391 y < 7538229475
082 | ! /
i ] /"@ - 1056
! /
\/\ |
{ -
Y T
\/\ﬂ“’ /. —
/,/ Zjazd SZer. 50 m ]
! +843
v / '5"6’
4 ;
v
a {
/g F
- 1054 Y J !
mw I / - 1058
~ l/ B
_— I /
- L] I 1
p !
I |
| [
l i 7}:
TL II ) ,'l /
:I / 7Lp
1320 576755 ~/_ ,} v \/\
12 !
* ;i ZJazqgger 50m I
1259 7 / 1 km 26+791
% / : - 1055
BREE & et
i
79 :'I ! 7;
!
7 ; i
R I
| I
\/\ Zjazd szer 50m il f
’ - km 26+75E H 1



